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Short answer questions/problems (+10 each)

1.  Suppose you calculate the inventory turnover for Raytheon (don’t actually calculate it…just assume you did).  How would you use your number to assess how effectively Raytheon manages its inventory?  Compare to industry averages (+3) and trends for the company (+3).  If Raytheon’s numbers are too far above or too far below the industry (+2) or trending away from the industry (+2), this is a potential problem.

2.  Assume you wanted to determine whether or not Raytheon uses an excessive amount of debt financing.  Which ratios would you calculate in order to help you make such a judgment?  Debt ratio, interest coverage ratio (+6 for first answer/+4 for second answer)

Use the following information and financial statements for Raytheon to answer questions 3 through 5.

3.  Calculate Raytheon’s quick ratio for 1999.  
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4.  Calculate Raytheon’s total asset turnover for 1999.  
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5.  Calculate Raytheon’s interest coverage ratio for 1999.
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For questions 6 through 10, assume you are calculating Raytheon’s EVA for 1999 using the Harnischfeger approach.  

6.  What number would you enter for Amortization of Capitalized R&D?  
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7.  What number would you enter for Intangible Assets?  15,065 = 14,396 + 669

8.  What number would you enter for Operating cash?  421

9.  Assume you are calculating Raytheon’s cost of capital.  What number would you use for the firm’s cost of equity capital?  11.38 = 5.08 + 1.05(6); partial:  equation (+4), variables (+2 each)

10.  Assume you are calculating Raytheon’s cost of capital.  In one sentence, explain what you should use for Tc when calculating rBAT?  Statutory (+1) tax rate (+8) for 1998 (+1)

Problems/Essays (+50 each)

1.  Assume that Raytheon’s overall cost of capital is 8.88%.  What is Raytheon’s EVA for 1999 using the “Basic EVA” method discussed in class?

-839 = (404+713) - .0888(28,232 – (7032-827)); partial:  equation (+25), 404 (+5), 713 (+5), .0888 (+4), 28,232 (+4), 7032 – 827 (+6), final answer (+1).
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2.  Suppose you notice that Raytheon’s Return on Equity has been steadily falling over the past few years.  How would you go about determining the source of this decline?  I would use DuPont Analysis [2] to determine whether the decline stems from a decline in the profit Raytheon makes per dollar of sales [4] (profit margin [4]) or from a decline in the sales per dollar of assets [4] (total asset turnover [4]) or from a decline in leverage [2] (equity multiplier [4]).  If there is a decline in the profit margin, I would examine trends in sales [2] and in expenses as a percentage of sales [2] to try to narrow down the cause.  If the problem is with asset turnover, I would calculate ratios like the average collection period [2] and inventory turnover [2] to determine which assets seem to be managed less efficiently.  

Note:  the numbers in brackets give how many “check marks” each concept is worth if you discuss it.  To get your score out of 50, use the following scale where checks = points.  For example, 26 checks got 50 points and 25 checks got 49 points.

Scale:  26=50, 25=49, 24=48, 23=47, 22=46, 21=45, 20=43, 19=41, 18=39, 17=38, 16=37, 15=36, 14=35, 11=34, 10=33, 7=32, 5=31, 4=30, 2=28, 1=25

Other Information on Raytheon

Raytheon’s beta as of 12/31/1999 = 0.95

Raytheon’s beat as of 12/31/1998 = 1.05

Raytheon’s beat as of 12/31/1998 = 1.00

Raytheon’s closing stock price as of 12/31/1999 = 25.5625

Raytheon’s closing stock price as of 12/31/1998 = 53.25

Raytheon’s closing stock price as of 12/31/1997 = 50.50

Return on a 30-year Treasury Strip as of 12/31/1999 = 6.48%

Return on a 30-year Treasury Strip as of 12/31/1998 = 5.08%

Return on a 30-year Treasury Strip as of 12/31/1997 = 5.93%

Note F: Inventories

Inventories consisted of the following at December 31:     1999        1998

------------------------------------------------------------------------------

(In millions)                                                       (Restated)

------------------------------------------------------------------------------

Finished goods                                           $  280      $  317

Work in process                                           1,322       1,193

Materials and purchased parts                               510         746

Excess of current cost over LIFO values                    (140)       (148)

------------------------------------------------------------------------------

                                                          1,972       2,108

Less progress payments                                      (22)       (117)

------------------------------------------------------------------------------

Total Inventory (LIFO Basis)                             $1,950      $1,991

==============================================================================

Research and Development for prior years:

Year                                         1996         1995         1994         1993         1992

Research and development expenses             323          316          270          279          290

Raytheon Company Consolidated Balance Sheets

---------------------------------------------------------------------------------------------------------------------------

                                                                                   December 31, 1999      December 31, 1998

---------------------------------------------------------------------------------------------------------------------------

(In millions except share amounts)                                                                          (Restated)

---------------------------------------------------------------------------------------------------------------------------

Assets

---------------------------------------------------------------------------------------------------------------------------

Current assets

  Cash and cash equivalents                                                            $     230              $     421

  Accounts receivable, less allowance for doubtful accounts

     of $27 in 1999 and $21 in 1998                                                          851                    618

  Contracts in process (note E)                                                            5,215                  4,859

  Inventories (note F)                                                                     1,950                  1,991

  Deferred federal and foreign income taxes (note J)                                         490                    840

  Prepaid expenses and other current assets                                                  195                    236

---------------------------------------------------------------------------------------------------------------------------

         Total current assets                                                              8,931                  8,965

Property, plant, and equipment, net (note G)                                               2,417                  2,275

Goodwill, net of accumulated amortization of $986 in 1999 and $669 in 1998                14,034                 14,396

Other assets, net (notes H and M)                                                          2,728                  2,596

---------------------------------------------------------------------------------------------------------------------------

              Total assets                                                             $  28,110              $  28,232

===========================================================================================================================

Liabilities and Stockholders' Equity

---------------------------------------------------------------------------------------------------------------------------

Current liabilities

  Notes payable and current portion of long-term debt (note I)                         $   2,472              $     827

  Advance payments, less contracts in process of $1,792 in 1999 and $1,159 in 1998         1,599                  1,251

  Accounts payable                                                                         1,561                  2,071

  Accrued salaries and wages                                                                 549                    703

  Other accrued expenses (note D)                                                          1,705                  2,180

---------------------------------------------------------------------------------------------------------------------------

         Total current liabilities                                                         7,886                  7,032

Accrued retiree benefits and other long-term liabilities (notes D and M)                   1,414                  1,679

Deferred federal and foreign income taxes (note J)                                           553                    561

Long-term debt (note I)                                                                    7,298                  8,163

Commitments and contingencies (note K)

Stockholders' equity (note Q)

  Preferred stock, par value $0.01 per share,

     200,000,000 shares authorized, none outstanding in 1999 and 1998

  Class A common stock, par value $0.01 per share,

     450,000,000 shares authorized, 100,805,000 and 101,503,000 shares outstanding

     in 1999 and 1998, respectively after deducting 1,537,000 and 839,000

     treasury shares in 1999 and 1998, respectively                                           1                      1

  Class B common stock, par value $0.01 per share,

     1,000,000,000 shares authorized, 237,955,000 and 235,295,000 shares

     outstanding in 1999 and 1998, respectively after deducting 5,842,000

     and 3,889,000 treasury shares in 1999 and 1998, respectively                              2                      2

  Additional paid-in capital                                                               6,475                  6,272

  Accumulated other comprehensive income                                                     (69)                   (50)

  Treasury stock, at cost                                                                   (413)                  (257)

  Retained earnings                                                                        4,963                  4,829

---------------------------------------------------------------------------------------------------------------------------

         Total stockholders' equity                                                       10,959                 10,797

---------------------------------------------------------------------------------------------------------------------------

              Total liabilities and stockholders' equity                               $  28,110              $  28,232

===========================================================================================================================

Raytheon Company Consolidated Statements of Income

----------------------------------------------------------------------------------------------------------

                                               Years Ended December 31: 1999        1998         1997

----------------------------------------------------------------------------------------------------------

(In millions except per share amounts)                                           (Restated)   (Restated)

----------------------------------------------------------------------------------------------------------

Net sales                                                          $  19,841     $  19,419     $ 13,593

----------------------------------------------------------------------------------------------------------

Cost of sales                                                         16,256        15,167       10,929

Administrative and selling expenses                                    1,550         1,664        1,189

Research and development expenses                                        508           582          415

----------------------------------------------------------------------------------------------------------

Total operating expenses                                              18,314        17,413       12,533

----------------------------------------------------------------------------------------------------------

Operating income                                                       1,527         2,006        1,060

----------------------------------------------------------------------------------------------------------

Interest expense, net                                                    713           711          359

Other income, net                                                        (14)         (142)         (65)

----------------------------------------------------------------------------------------------------------

Non-operating expense, net                                               699           569          294

----------------------------------------------------------------------------------------------------------

Income before taxes                                                      828         1,437          766

Federal and foreign income taxes                                         371           593          255

----------------------------------------------------------------------------------------------------------

Income before accounting change                                          457           844          511

Cumulative effect of change in accounting principle, net of tax           53            --           --

----------------------------------------------------------------------------------------------------------

Net income                                                         $     404     $     844          511

==========================================================================================================
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